



Nome: \_\_\_\_\_

Data: \_\_\_\_\_ Punteggio: \_\_\_\_\_

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right) - \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{3}\right)^0 - \frac{3}{5} =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right) + \frac{2}{5} =$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{6}\right) =$$



Nome: \_\_\_\_\_

Data: \_\_\_\_\_ Punteggio: \_\_\_\_\_

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{4}\right) = \left(-\frac{9}{20}\right)$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{2}{3}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \frac{2}{5} = \left(-\frac{21}{40}\right)$$

$$\left(-\frac{1}{3}\right) - \frac{1}{2} = \left(-\frac{5}{6}\right)$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{343}{500}\right)$$

$$\left(\frac{1}{3}\right)^0 - \frac{3}{5} = \frac{2}{5}$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{6}\right) = \frac{2}{3}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{3}{20}\right)$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{27}{50}$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{6}\right) = \frac{173}{750}$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{18}\right)$$

$$\left(-\frac{1}{5}\right) + \frac{2}{5} = \frac{1}{5}$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{3}\right) = \frac{44}{375}$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{437}{1080}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{43}{50}$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{1}{3}\right) = \frac{17}{192}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{7}{20}\right)$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{2} = \left(-\frac{71}{250}\right)$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{3}{5}\right) = \frac{32}{45}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{5}{36}\right)$$